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Note : Attempt all questions.
l. Write an Essay on any (ONE) of the following in about (450) words: [15]
(i) Women Empowerment (i) Terrorism
(iii) Republic Day (iv) Unemployment
2. Write a letter to your friend congratulating her on getting first position in B.Sc. Nursing Exam.
OR [10]
Write a letter to your Uncle thanking him for the gift that he has sent you on your birthday.
3. Write a paragraph in about (100) words on any (ONE) of the following topics: [10]
(a) Life in a Big City (b) Value of Discipline
(c) A visit to a Zoo (d) Aim in Life
4. Do as directed:
A. Change the voice :: [5]
(i) Open the door. (i1) [ can lift this box.
(iii) Who broke this cup ? (iv) Please help the poor.
(v) Don't insult the elders.
B. Fill in the blanks with correct Preposition: [5]
(i) Please listen me. (ii) [ prefer death dishonour.
(iii) I have no desire wealth, (iv) Aman died cancer.
(v) He was born rich parents.
C. Change the Narration : [5]
(i) Ram said, *My son died yesterday night”.
(ii) He said, **Alas "the poor woman is dead”.

(iii) She said to me, “Don’t you like coffee ?”.
(iv) Raman said, *1 have made a mistake”.

v) She said, “I'went to attend a seminar today”.
D. Correct the following sentences : [5]
(i) Reena is good in English. (ii) He is conscious for his mistakes.
(iii) Sun rises in East. (iv) [ enjoy to swim.
v) Bread is made of flour.
5. Express your views on  : “Role of women in Indian Politics”.
OR [10]

Role of W.H.O. (World Health Organisation) at national level.

6. Read the following passage carefully and answer the questions that follow : [10]
Lister's aim was the prevention of disease. The object of his antiseptic method, as it was called, was
to stop germs from getting into the body. The cure of a disease was a difficult problem, for here the
germs were already inside the body. Certainly, they could be killed by the same antiseptic method,
but it was soon found that a chemical that destroyed germs also destroyed the cells of the body.
Injecting carbolic acid into the blood was tried and quickly abandoned, for it did more harm than
good. To Kill all the germs a dose would have to be so strong that it would kill the patient too.
Carbolic acid and all the other known antiseptic did the more damage to the leucocytes than to the
germs. The problem was to find something that would attack only the germs; and so help, not
destroy the fighting leucocytes.

(i) What was lister’s aim ?

(if) What is the antiseptic method ?

(iii) Why did the antiseptic method fail to cure the disease.
(iv) How did the carbolic acid do more damage ?

(v) Give the central idea of the passage.



